ZUo0

ITEM NAME/NOM D'ITEM: BULLY LOUNGE CHAIR
ITEM # /NO.ITEM: 100534A/100535A/100536A

PARTS LIST / LISTE DES PIECES

1 2 X 8
®  M8X60MM x4

B. M8X17MM x 8

S % D. M10X40MM x 6
~>, . =, X

E. & M8X18MM x4

X1 X1 X 1

F (& X6
4 5 6 b
o X2
%3
X4
X2
K @ M6 X2
x 1 (finger) x 1 (finger) x 1 (flat) X 2 L. = M4 x 1

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D'ASSEMBLAGE




For missing parts or damaged parts, please call USA 1-866-798-6663
Canada 514-382-6661

Al-4-171115



®

ZU0

ITEM NAME/NOM D'ITEM: BULLY OTTOMAN
ITEM #/NO. ITEM: 100534B/100535B/100536B

PARTS LIST/LISTE DES PIECES

(1) (2) (3) (4)
A. M6 x L45mm x4
B. @ M6 x4
o C. v M4 xL32mm x4
% D. ¢ M6 x4
E. = 10xL40mm x8
F. ©  PASTE PAD x4
x1 X2 x2 | G. = 6mm x1

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D'ASSEMBLAGE

III

USA : 1-866-798-6663

F issi t d d ts, pl 11
or missing parts or damaged parts, please ca Canada - 514-382-6661

Al-4-190124



	100534A_AI
	100534B_AI

